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THSFERBRBREMR( L HEEE

(SFM6E10A31BIRAE)

I BREHE

1 KIEEDIDIEXK (FREEHE) (Bfir: b))
F 23 BREHE 1 % 2 % 3 % Higsn
5 F & 766,467 37.6% 36.5% 23.4% 2.5%
4 F E 788,407 78.8% 18.4% 0.9% 1.8%
3 & E 793,275 84.1% 13.3% 0.7% 1.8%
2 F E 826,591 79.3% 17.9% 1.2% 1.6%
T F E 826,195 54.6% 38.2% 4.9% 2.3%
30 &£ E 780,760 82.4% 14.7% 0.9% 2.0%

CENHHEEICIIBRERELRV-FRETT,
GE2)30FEEMNDAFEEICOVTIL., ABPOBREEETY,
GE3)TOURDBEFBRTEHENRDEAN—HLGENZEAHBYET, (LLTRIL)

2. SRWAIME (FRRE)

(BAL )

fniE A BEHE 1 % 2 = 3 % gt
a Y kb AH Y 461,654 25.4% 37.4% 34.9% 2.3%
L W &R E 84,327 12.7% 76.6% 10.3% 0.4%
NTFT T FE Y 27,557 91.1% 5.1% 0.6% 3.3%
o Z Bf 24,061 94.8% 4.5% 0.2% 0.5%
W H & D IF 22,895 89.5% 9.2% 1.2% 0.1%
W = A F B 22,554 62.4% 33.0% 3.8% 0.8%
T A = h K 16,134 90.2% 7.1% 2.3% 0.3%
D E H MY 12,580 29.3% 59.2% 11.3% 0.3%
v v < F A 12,231 89.1% 9.4% 1.2% 0.3%
T A Z %Y 10,045 92.5% 6.8% 0.5% 0.2%
H T = MY 9,603 87.6% 7.1% 1.7% 3.5%
& T IEFEDEE 7,953 9.6% 77.8% 12.0% 0.6%
= = E 7,628 93.5% 5.1% 0.8% 0.6%
W B F F h 7,183 96.7% 3.2% 0.1% 0.0%
CLDELHE 5,738 17.7% 73.1% 8.6% 0.6%
SLxF—O4—2 4,790 50.4% 37.4% 10.8% 1.4%
2<IEsD25& 4,194 90.0% 8.7% 1.1% 0.2%
H T I bHh b 3,243 27.3% 35.5% 34.2% 3.0%
S| S & 2,368 52.3% 44 4% 2.7% 0.6%
BEE 0 Y 964 73.1% 22.7% 3.2% 0.9%
P S5 FE L2 1 903 90.1% 8.0% 1.7% 0.2%
- 750 20.8% 71.2% 7.4% 0.5%
O & H 1T h 711 47.1% 39.1% 7.8% 5.9%
L5 F & O Y 658 55.0% 34.6% 2.1% 8.3%
F X E A Y 642 9.8% 31.4% 58.6% 0.2%
¥ A & DY 574 63.2% 33.6% 2.5% 0.7%
2<IEXsD1E 430 6.1% 7.1% 85.5% 1.3%
[ N = A 4 428 2.9% 86.3% 10.3% 0.6%
4 2 E H Y 409 68.1% 13.1% 18.8% -
X & O # 309 79.3% 17.3% 3.4% -
& kK B = 256 22.0% 46.3% 22.4% 9.3%
z Z F % 234 82.7% 15.2% 2.0% -
I C s 6 & 229 - 26.3% 73.7% -
Hh = - F b 166 47.0% 28.3% 22.1% 2.5%
 F £ b b 150 37.1% 22.4% 29.0% 11.5%
Oy A4 IN— )b 147 67.2% 28.2% - 4.5%




2. MR E (FREE) (B k)
fniE BEHE 1 % 2 3 = Higs
x z2 & = 137 93.0% 5.4% 1.7% -
2 Z - b 118 44.0% 18.7% 34.3% 2.9%
o B n 117 21.0% 35.2% 43.8% -
NATYyREST53E 107 - 100.0% - -
xF & 9 & & 96 90.2% 9.8% - -
T X % 88 - - 99.9% 0.1%
x M &H L 69 30.6% 67.3% - 2.1%
& 5 63 - 19.3% 78.7% 2.1%
E A & T W 53 14.8% 69.8% 13.2% 2.2%
ALK L T8 51 95.7% 4.3% - -
w0 s 0 = 49 - 6.8% 69.4% 23.8%
& L] [0 45 - 85.6% 4.2% 10.2%
g o " s Y 43 - - 75.7% 24.3%
E h v v 4 28 88.3% 11.7% - -
Z H D H = 9 - 100.0% - -
E AU O 7 - 41.1% 58.9% -
3 BE 3 6 - 54.7% 45.3% -
X =1 » = A 4 32.9% 67.1% - -
E MK 2 1 B 4 58.1% 41.9% - -
2 9 B H Y 3 100.0% - - -
mZ YU F 3 100.0% - - -
BE K 1 B 2 58.5% 41.5% - -
E b b £ A 2 - - 100.0% -
max»UY vk 1 - 100.0% - -
z ) fth 10,665 23.1% 11.2% 10.7% 55.0%
KIE>5H K KEt 766,467 37.6% 36.5% 23.4% 2.5%
KDL XK 38,176 51.3% 42.8% 4.9% 1.0%
(B4 b))
BEHE % T E 1 % 2 % 3 % SR
B & A % X 18,801 - - 39.8% 52.7% 6.9% 0.6%
(B k)
53645 -BERR K|  823461]
X KIESAERKOEWBEERZSD
3. fHAXERBE (B k)
BREH=E =X Higst
fl # A b #H 3,012 100.0% -
8 A X X 44,220 99.9% 0.1%




FHSFEERBRERRE( 1R VHETEE
(SFM6E10A31BIRAE)

I BREHR

- SHM6EI0AIBDKIESIAZLRKDBEMEIL 4622 Fho 15HLEFE(IT 140 BIZH->TLVET,
- 2ZFL TSRS =T LERIX, IEA 730 %, BRI ZEH 246 %, HEHIA 1.6 %, EEHIA 06 %
EEHTWVET,

I REH#E

1. KFEIDEXK (FRREHE) (BGL: b))
e 3 BREHE 1% 2 ¥ 3 % Mg s
5 & & 462,224 14.0% 46.2% 36.7% 3.1%
4 F E 469,811 73.9% 23.9% 0.7% 1.5%
3 F E 471,001 78.7% 18.9% 0.9% 1.5%
2 F E 489,537 73.5% 24.0% 1.3% 1.2%
T F E 492,844 34.6% 56.2% 7.5% 1.7%
30 F E 449,904 78.6% 18.9% 1.0% 1.6%

CENHMEEICIIBRERELZRVV-ERETT,
GE2)0FEEMNSAFEIZDOVTIL. FIBHOBREEETY,
GEI)TIVRDERTHENRDIN—BLENZELHBYET, (ULTREL)

2. HWERIME (FEREE) (BAfSI: b))
faiE BREHE 1 % 2 % 3 % SR
a Y e HY 295,508 4.3% 40.4% 52.2% 3.1%
L L xR = 84,327 12.7% 76.6% 10.3% 0.4%
o Z Bf 24,061 94.8% 4.5% 0.2% 0.5%
= A F E 22,554 62.4% 33.0% 3.8% 0.8%
o T H MY 8,795 9.4% 75.2% 15.0% 0.4%
HTIF 0 EE 7,953 9.6% 77.8% 12.0% 0.6%
Lo ELHE 5,648 16.7% 73.9% 8.7% 0.6%
SLFxF—U4—2 1,926 13.3% 59.6% 24.3% 2.9%
H = £ b b 1,119 5.8% 21.2% 66.4% 6.6%
= O B 750 20.8% 71.2% 7.4% 0.5%
5 T & O Y 658 55.0% 34.6% 2.1% 8.3%
¥ B # @Y 574 63.2% 33.6% 2.5% 0.7%
F X B A Y 497 2.1% 22.9% 75.1% -
FF O X9+ 428 2.9% 86.3% 10.3% 0.6%
DB F h 379 27.6% 49.4% 12.4% 10.6%
2<IEXsD1E 314 6.1% 9.7% 82.5% 1.7%
E A O 297 78.5% 17.9% 3.6% -
v F £ b B 150 37.1% 22.4% 29.0% 11.5%
H =12 F b 146 47.7% 29.4% 22.7% 0.1%
2<IEXsbD2 & 121 - 91.0% 9.0% -
T A & 88 - - 99.9% 0.1%
ko B n 81 - 50.9% 49.1% -
x M H L 69 30.6% 67.3% - 2.1%
2 Z - b 49 - 35.0% 57.9% 7.0%
W0 s 0 = 49 - 6.8% 69.4% 23.8%
o oo " B Y 43 - - 75.7% 24.3%
& 5 39 - 2.8% 93.9% 3.3%
E A E W 22 - 77.9% 17.0% 5.1%
A H D H T 9 - 100.0% - -




2. SRWAIME (FRRE)

(BAL: h2)

fniE BEHE 1 % 2 3 = Higs
EAh U R 7 - 41.1% 58.9% -
E3 FE 3 6 - 54.7% 45.3% -
& L] [0} 6 - - 34.2% 65.8%
X =1 > = A 3 - 100.0% - -
w2 YU F 3 100.0% - - -
BE &K 1 B 2 58.5% 41.5% - -
xF 2 & & 2 - - 100.0% -
maY Yy vk 1 - 100.0% - -
z ) b 5,542 1.9% 12.2% 10.8% 75.1%
KFEDDH K KET 462,224 14.0% 46.2% 36.7% 3.1%
KDL XK 29,961 45.9% 48.8% 4.4% 0.9%
(B4 k)
BREH=E % L B E 1 % 2 % 3 % gt
B o A X % 11,508 - - 16.9% 71.4% 10.9% 0.9%
(B b))
[5%5-t6-EEAKKE]  503709)
X KIESAERKOEHMBEERZSD
3. fFAXRFREE (B k)
BREHE =X Higs
FH AL A 960 100.0% -
fa B8 A X XK 21,892 99.8% 0.2%




I BREHR

SHSFEEXRFBRERER( B EEME
($F6E108318I]HE)

- SM6FI0ANBRAEDKIEIDIELKRDEERH =1L 1328 Fho 1FLLEK(K 62.6 %IHE->TLVET,
- 2EP TR ENF-EHERIL. BRAEN 453 %, LB 42.8 % FHEHIA 6.5 %. EBRHA 42 %

EHOTWET,

I REHE

1. KFESIDLX K (ERBREHE) (B4 b))
F B BREH=E 1 % 2 % 3 = Higs
5 & E 132,755 62.6% 31.8% 4.7% 0.9%
4 £ E 140,448 88.0% 9.9% 0.8% 1.3%
3 F E 141,623 93.8% 4.7% 0.4% 1.1%
2 & E 152,975 90.2% 7.8% 0.8% 1.2%
T O OE 149,381 85.1% 11.8% 0.8% 2.3%
30 £ E 145,069 88.8% 9.3% 0.7% 1.3%

CEDHEMEEICLIREBEREZRIV-ERETT .
CE2)0EEMNLAFEICOVTIL. RABHOREERETY .
CE3) TR DERTIHERNRDEN—HBLGENIENHYES . UATRIL)

2. BRI HME (FHRERE)

(B b))

sniE % REHE 1 % 2 % 3 % FSA A
a Y kb hH Y 88,688 50.6% 43.0% 5.8% 0.6%
T A = h < 16,134 90.2% 7.1% 2.3% 0.3%
T A Z % Y 10,045 92.5% 6.8% 0.5% 0.2%
= = = 7,628 93.5% 5.1% 0.8% 0.6%
2<KIESD2 & 4,073 92.7% 6.3% 0.9% 0.2%
Hh = b b 1,677 35.5% 44.4% 19.3% 0.8%
SLXx—HD4—2 1,529 82.0% 15.1% 2.6% 0.4%
P S5 FE 21 901 90.1% 8.0% 1.7% 0.2%
o T F H MY 784 40.4% 54.7% 4.8% 0.1%
I~ < F 3 132 96.4% - 3.6% -
D EH F h 23 58.0% 35.4% 6.6% -
& & [0} 23 - 96.1% - 3.9%
Hh = = MY 14 100.0% - - -
& 5 13 - - 100.0% -
HhEtr-F b 12 - 35.1% 30.4% 34.5%
2 - - 5 7 100.0% - - -
H Z & 4 - 100.0% - -
E A & T W 3 100.0% - - -
E H b £ A 2 - - 100.0% -
72 49 B H Y 1 100.0% - - -
z ) fth 1,061 25.3% 13.0% 15.3% 46.4%
KIEESD5H K KET 132,755 62.6% 31.8% 4.7% 0.9%
Kigd s R X 3,973 72.7% 21.3% 5.2% 0.7%
(B ko)
BREHE Ok i E5 1 % 2 % 3 % g
B oE A % X 3,156 - - 63.2% 36.3% 0.5% 0.1%
E )
556 16 - B B3 K| 139,884]
3. AR AXRERHKE (BAfST: ko)
BREHE =X Higs
HAHALH» 2,016 100.0% -
f A A X XK 7,686 100.0% -




I BREHR

SHSFEEXRFBREBEHER( BRI HEERE
($F6E108318I]HE)

- SHGEI0AIIHREDKIESIDILLKDHEEHE(L 885 Fh, 1FHEIL 805 %IZHHOTLVET,
s 2ZHLTICHRfMITESh =L ERIL, I2EH 488 %, BRAIN 191 %, BA AR EA 16.1 %, FHEHIH 149 %

EHOTWET,

I REHE

1. KFESIDLX K (ERBREHE) (B4 b))
F B BREH=E 1 % 2 % 3 = Higs
5 & E 88,451 80.5% 17.1% 1.8% 0.5%
4 £ E 89,727 83.1% 14.9% 1.7% 0.3%
3 F E 90,745 91.8% 7.1% 0.7% 0.3%
2 & E 91,016 88.4% 9.6% 1.4% 0.7%
T O OE 90,232 85.3% 12.9% 1.2% 0.6%
30 F E 93,224 88.1% 10.6% 0.9% 0.4%

CEDHEMEEICLIREBEREZRIV-ERETT .
CE2)0EEMNLAFEICOVTIL. RABHOREERETY .
CE3) TR DERTIHERNRDEN—HBLGENIENHYES . UATRIL)

2. BRI HME (FHRERE)

(B b))

sniE % REHE 1 % 2 % 3 % g
a Y kb hH Y 45,261 74.8% 22.9% 1.9% 0.5%
B H & D IF 22,895 89.5% 9.2% 1.2% 0.1%
D < F AK 12,231 89.1% 9.4% 1.2% 0.3%
o T H MY 2,356 83.0% 14.1% 2.8% 0.1%
NF I FE Y 1,241 83.8% 14.6% 1.5% 0.1%
B E U0 MY 964 73.1% 22.7% 3.2% 0.9%
SLXx—HD4—2 676 67.8% 31.7% 0.5% 0.0%
Hh = b b 448 50.6% 38.1% 9.4% 1.9%
E kK B = 256 22.0% 46.3% 22.4% 9.3%
v EH F h 251 64.7% 31.9% 2.7% 0.8%
=] x B 150 82.1% 17.6% - 0.3%
Lo ELHE 90 82.0% 18.0% - -
Iz Z F 5 46 27.2% 72.8% - -
g2 - Z 5 46 89.3% 10.7% - -
E A E 2T W 28 17.0% 71.3% 11.7% -
E T 12 100.0% - - -
& 5 11 - 100.0% - -
Hh =t F b 8 100.0% - - -
E % 2 1 B 4 58.1% 41.9% - -
P S5 = L2 1 2 75.8% 24.2% - -
z ) fth 1,477 76.0% 5.6% 9.5% 8.9%
KIEESD5H K KET 88,451 80.5% 17.1% 1.8% 0.5%
KiEHBE XK XK 2,685 60.6% 24.0% 12.0% 3.3%
(B ko)
BREHE Ok i E5 1 % 2 % 3 % SR
B & A % X 1,547 - - 83.2% 15.7% 1.0% 0.1%
E )
556 16 - B B3 K| 92,683
3. AR AXRERHKE (BAfST: ko)
BREHE =X Higs
HAHALH» - - -
f A A X XK 5,396 99.9% 0.1%




FHSFEERBRERRE( B8H )HETEME
(HHM6E10A31BIRAE)

I BmEHR

- SHGEI0AINHREDKIESIDILLKDHEEHNE(L 83.0 Fho, 1FHEIL 834 %IZHOTLVET,

- 2ZEPTFICHRfMTITENEEHRERIE. BRELREN 416 %, ILEH 41.3 %, HEHA 102 %, FEHN 64 %

EHOTWET,

I REHE

1. KFESDEXR K (ERBREHE) (B k)
F B BREH#H= 1 % 2 % 3 = Higsn
5 & E 83,037 83.4% 10.7% 1.8% 41%
4 5 E 88,420 86.1% 6.6% 1.2% 6.1%
3 F E 89,907 89.7% 4.1% 0.5% 5.7%
2 & E 93,063 82.8% 10.5% 1.3% 5.4%
T O OE 93,738 81.9% 10.1% 1.2% 6.8%
30 & E 92,564 85.2% 7.0% 1.0% 6.8%

CEHEMEEICLIREBEREZRIV-ERETY .
CE2)0FEEMNLAFEICOVTIL. RABHOREERETY .
CE3) TV DERTIHERNRDEFN—HBLGNIENHYES . ATRIL)

2. HIRAHE (EHRBEE) (Bf: b))

migE4 BREH=E 1 % 2 % 3 % R
a3 Y E Hh U 32,197 80.2% 14.8% 1.6% 3.3%
INFT T F B 26,317 91.5% 4.6% 0.5% 3.4%
H = = MY 9,589 87.6% 7.1% 1.7% 3.6%
W5 F F 4 7,183 96.7% 3.2% 0.1% 0.0%
H S B 2,215 50.4% 46.1% 2.9% 0.6%
SLxXF—94—> 659 67.9% 30.4% 0.9% 0.8%
o F H MY 644 89.9% 9.8% - 0.3%
4 9 E H Y 409 68.1% 13.1% 18.8% -
1 C S 6 B 229 - 26.3% 73.7% -
x4 IN— )L 147 67.2% 28.2% - 4.5%
¥ X B A Y 145 36.4% 60.5% 2.4% 0.7%
F z % = 135 94.5% 5.5% - -
2<KESsSD1&E 115 6.1% - 93.6% 0.3%
NATUvRESZ 538 107 - 100.0% - -
F & ¥ & & 96 90.2% 9.8% - -
0 & H 1T h 58 94.7% 5.3% - -
~ < FF 3 56 96.2% 3.7% 0.2% -
ALK T8 51 95.7% 4.3% - -
g B J| 36 68.2% - 31.8% -
E A2 v v 4 28 88.3% 11.7% - -
& ] [0} 16 - 100.0% - -
2 - - 5 16 23.1% - 76.9% -
2 97 B A Y 2 100.0% - - -
& = 1F - = A 1 100.0% - - -
z ) fth 2,586 37.5% 11.8% 9.2% 41.6%
KIESDHH % KE 83,037 83.4% 10.7% 1.8% 4.1%
K I H 5 X K 1,557 84.0% 15.1% 0.7% 0.1%
_ (B b))
REH= Ok HE 1 % 2 % 3 % ST
BB s A X X 2,591 — — 87.0% 12.1% 0.8% 0.1%
(Bfir: k)
1225 45 - B AR K| 87,185|
3. AR AKERKE _ (Bifir: k)
BREH= =X g s
AL & 36 100.0% -
g # A 3% XK 9,246 100.0% -




